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INSTRUCTIONS: ANSWER ALL THE QUESTIONS IN TE SPACES PROVIDED

· a) Write the following numbers in words.						(2mks)

i) 370204




ii) 99,099,099




b) Write the following numbers in figures.						(2mks)

i) Nine million, two hundred and twenty three thousand and thirty.		





ii) One hundred forty five million and one.





· What is the total value of the underlined digit in the following numbers?		(5mks)

a) 273712

b) 303455

c) 801235104

d) 545554555

e) 91911119
· a) Evaluate 89.04 + 69.046 + 0.0098. Give your answer to 3dp.				(2mks)









b) Find the value of									(2mks)

	11.2 x 7.2
	     0.63








· Simplify 6 + 36 ÷ 9 + 14 ÷ 2 x 5.								(3mks)












· Find the L.C.M of 30, 56, and 72								(3mks)










· Express the following as products of prime factors.					(6mks)

a) 2744




b) 9520




c) 1386




· Express the following measurements correct to 3 significant figures.			(2mks)

a) 40.708




b) 39.97




· Find the G.C.D of 240, 360, 600 and 700.						(3mks)









· What is the place value of the underlined digit in the following numbers?		(3mks)

i) 256789

ii) 534125

iii) 32568
· Work out the following									(6mks)

a) i) -4 + -6




ii) +5 - +8




iii) -5 - -5




b)  i) -2 x -4 x 5




ii) -36 ÷ -9



iii) 4 x 3 – 8 ÷ 2





· Arrange the following fractions in ascending order.					(3mks)

2/3, 3/5, 5/6 3/10







· Arrange in descending order								(3mks)

¼, 7/8, 3/16, 4/24

· Evaluate		-12 ÷ (-3) x 4 – (-15) 							(3mks)
			    -5 x 6 ÷ 2 + (-5)












· Test whether 59484 is divisible by 6							(3mks)










· Convert 0.014 to a fraction in its simplest form.						(3mks)











· Evaluate 	¼ of  (51/6 – 21/3) ÷ 2/3 + 37/11							(3mks)








· The GCD of the two numbers is 8 and their LCM is 8 and their LCM is 360. If one of the numbers is 72, find the other number.							(3mks)














· A trader bought 17 trousers costing sh.525 each, 23 shirts costing shs. 347 each and 32 T-shirts costing shs. 195 each. How much did he pay?					(4mks)
















· What is the capacity of a container which measures 1.5m by 1.0m by 0.5 in  litres.	(3mks)











· The area of a right angled triangular plot is 120m2. The length of the shortest side is 10m what is the length of the longest side.							(3mks)













· A shopkeeper spent 888 to buy 16 plates and then sold them at a profit of 20%.for how much did the shopkeeper sell each plate.							(3 mks














· When a certain number is divided by 10, 15, or 18, there is always a reminder of 7 find the number											(3mks)












· Mutual bought 160 trays of 8 eggs each at sh. 150  per tray .on transportation 12 eggs broken .he later discovered that 20 eggs were rotten. If he sold the rest at shs 180 per tray how much profit did he make?									(4 mks














· Three bell are programmed to ring  after an interval of 15 minutes, 25 minutes and 50 minutes  respectively. If they  all rang together at 8.45 am, when will they next ring together again											(4 mks














· Joan borrowed sh 150,000 from a friend she paid back shs 25,000 in the first month shs. 15,000 in the second month and sh 34,000 in the third month. She paid the rest in equal amount for two months. How much did she pay for each of the last two month?	(4 mks









· A man had 3469 bags of maize, each weight 90kg he sold 2654 of them.
a) How many kilograms of maize was left							(2 mks






b) If he added 468 more bags, how many bags did he end up with				(2 mks






27)  Kameeni uses one third of his farm for planting coffee and tea, two fifths of the  reminder  for mixed farming.  He still has six hectares of unused land. Find the size of kameni’s farm.													(4mks)

















28) Form one student Afraha high were travelling for a trip by railway and consisted 17 teachers and 437 students. The railway fare is sh 129 for a child and ksh 159 for an adult. Find the cost of the trip.											(4 mks									


